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CRIMINOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

“Criminology 1is the discipline or a
branch of knowledge which studies
violation of criminal codes or set of
rules and regulations in society”.
Stated by

(A) W.C. Reckless
(B) E.H. Sutherland
(C) D. Taft

(D) Elliot & Merryl

Post-graduate course in Criminology
was started for the first time in India
by

(A) University of Sagar, Sagar

(B) Karnatak University, Dharwad

(C) Tata Institute of Social
Sciences, Mumbai

(D) Lucknow University, Lucknow

Who has defined “Crime is an act
which offends the basic sentiments
of pity and probity ?”

(A) Blackstone

(B) Donald Taft

(C) William Bonger

(D) Raffaele Garofalo

Who has coined the concept of
hedonism ?

(A) Lombroso
(B) Beccaria
(C) Bentham
(D) Miller

Who has coined the concept of
Anomie ?

(A) Merton
(B) Adler

(C) Durkheim
(D) McKay

The authors of the book entitled
“New Horizons in Criminology” are

(A) Sutherland and Cressey
(B) Elliot and Merryl

(C) Barnes and Teeters

(D) Glueck and Sheldon

Who is the pioneer exponent of
‘labelling theory’ ?

(A) Quinney
(B) Becker
(C) Sellin
(D) Quetelet

Arrange the following schools of
thought in the chronological order
using the codes below :

L Classical School

II.  Positive School

III. Demonology

IV. Sociological School
Codes :

A) mr 1 I 1v
@ oI 1m v I
© m v 1m I
M) 1 1m o 1v
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10.

11.

12.

13.

Victim compensation has been
particularly emphasised by which
Committee ?

(A) Mulla Committee

(B) Duggal Committee

(C) Kapoor Committee

(D) Malimath Committee

The main source of crime and
criminal statistics in India is
(A) National Institute of Social

Defence

(B) National Crime  Records
Bureau

(C) Bureau of Police Research &
Development

(D) LNJN National Institute of
Criminology and Forensic
Science

Crime can be registered under which
of the following sections ?

(A) 150Cr.P.C.

(B) 154 1P.C.

(C) 154Cr.P.C.

(D) 160 Cr. P.C.

The word ‘Crime’ is synonymous to
(A) Offence (B) Sin
(C) Wrong (D) Tort

‘Dark figure’ of crime refers to

L Crime not reported to police.

II. Crime which does not find
place in  official crime
statistics.

III. Crime not recorded by the
police.

IV. All of the above

Which of the following is correct ?

(A L1I (B) LI

(©) 1L 1 (D) 1V
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14.

15.

16.

17.

Hypothesis means

L A tentative generalisation
II. A statement which is true by
itself.

III. A theory.

IV. None of the above.

Which of the following is correct ?
(A I (B) I&II
© mM&lv (D) 1V

The  criminal  justice
generally followed in India is
(A) Accusitorial system
(B) Inquisitorial system
(C) Correctional system
(D) Judicial system

system

Assertion (A) : One of the oldest
forms of organised crime is the
recruitment of girls and
women for prostitution.

Reason (R) : Trafficking in women
and girls for the purpose of
sexual exploitation is a form of
organised crime.

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is true, but (R) is false.

(D) (A)is false, (R) is true.

Assertion (A) : Probation is a form
of institution based correction.
Reason (R) : Probation is a method
of treating suitably selected
offenders in the community.
(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are wrong.
(© (A) is correct, but (R) is
wrong.
D) (A) is
correct.

wrong, but (R) is
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9.

10.

11.

12.

13.

ffafed & @ fog affa & gw
Scdifed garest R foe & @ oot fean
™E?

(A) Hoor Efa

(B) et |fAf

(C) I WA

(D) WA |rAfT

TR | 3RTY Ud YR FifeTeht i

T AT e :

(A) T GHTST T&T0T LI

(B) T TR ThTSH
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we faty fagm g

Y H =IRT H ¥ 9 9/ &
3Tl Utiehet feRaT ST Eehell & 2

(A) << WfshaT el i &R 150

(B) YRAM §€ Hiedm st €RT 154

(C) e Uishar Hiear ot €RT 154

(D) << VTshAT HiedT i &RT 160

HRTY g FETAREd § ¥ R IR &
I FHEET AT GHEIAT &A1 S
(A) TR () (B) 9
(C) Terd (D) 2

3TTRTY T “BTeh TR TR T Tehe SRl

g7

I Yfcrd ol = giod frar T eToRTg

I 3R ST AR 3Ty HifeTeht
T T e e € |

1. 9T ERT ST 781 fohal T STaRre

IV. 3I9ga gt

fr=iferd H @ P AT 2

(A) L1I (B) I, 1II

(C) IL I D) IV
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14.

15.

16.

17.
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IRd A fR9 WY = U H
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(A) SRR Tgfd

(B) SN Sl hivsd GG

(C) GURTHS YZTd

(D) =1k UgTa

A (A) : Gled 3TIY H TR
T w9 avag & o
TTeiehal AR el &t et e e |

&I (R) : TR WWor % ferd
o= iR wiefeal & TR (A
3TSY AMIR) IS TR HT Th
O |

FHT:

(A) (A) IR (R) I TAE |

(B) (A) 3R (R) 3HT 3T € |

(C) (A)TI TR (R) TTAE |

(D) (A) FTFIE R (R) TAE |

AWHAT (A) : TR TR FoR
H TFH THRE |

HROT(R)  : TR SUgT @E 9
I B IR Bl TS W e
TU GURA T A E |

(A) (A) AT (R)SATTEIE |
(B) (A) 3R (R) THI AT € |
(C) (A) T AR (R) Tera € |
(D) (A) T 3R (R) Tl E |
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18.

19.

20.

Assertion (A) : Juvenile Justice in
India aims at treating children
in conflict with law
differentially from the adult
criminal justice process.

Reason (R) : A child is not treated
in the adult criminal justice
system because a child will not
be able to fully understand the
consequences of his/her act.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : In general, a victim
is the forgotten person in the
criminal justice system in
India.

Reason (R) : The criminal justice

system in India is victim
oriented and not offender
oriented.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Assertion (A) : The rights of the
arrested person are
constitutionally safeguarded.

Reason (R) : Because of the abuse
of power of arrest by the law
enforcement agencies in India,
the Supreme Court has given
directions in D.K. Basu Vs.
State of West Bengal case.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-11

21.

22,

23.

Assertion (A) : Wife abuse is a
form of domestic violence.

Reason (R) : Domestic violence
implies all forms of
violence/abuse perpetrated in a
family setting. This includes
child abuse, wife abuse and
elder abuse.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : ‘Positivism’ refers
to an approach which studies

human behaviour through
scientific methods.
Reason (R) : The focus of

positivism is on the
‘systematic observation’,
‘accumulation of evidence’,
‘objective analysis’ within a
deductive framework.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both(A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Arrange the theories in the order in
which they appeared. Use the code
given below

L Positive school

II.  Classical School

III. Cohen’s Sub-cultural Theory
IV. Association Theory

Codes :

A I Iv 1 I

@B Iv m 1 1

© oI 1 1Iv 1

) 1 1o 1m 1Iv
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19.

20.

AT FHT AT FET b GO H
A Al H IR HEAT & A
T I = UishAT 9§ M ©
0

&HROT (R) &L AU T
el H oed Wl gieAfed @l
Topa T & Fiifeh sTeam 310 Fed
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H:

(A) (A) IR QR)INHAAE |

(B) (A) 3R (R) 3HT 3T € |

(C) (A)TI TR (R) TTAE |

(D) (A) FTFI TR (R) TAE |

AMNHAT (A) : 9RT F AWY =T
ugfa o Sciifea amr=raan faftega
AT BT |

%R (R) : YR W TRy =™
TEd Sited 3@ Bt ¢ 7 %
STORTET 3 |

H:

(A) (A)IRR)INIAIE |

(B) (A) 3R (R) 3HT 3T € |

(C) (A)TI TR (R) TTAE |

(D) (A) FTFIE R (R) TAE |

At (A) : TRER 6T T8 =3
% ATPR AP TT F RIera
g

%I (R) : B AN HA arel
wtEEl R TRER A W@
il o SHIANT & HROT Fared
TEed A SNy g ufves
ST T & g1l | feer e & |

(A) (A) IR (R) I TAE |

(B) (A) 3R (R) I 3 AT |
(C) (A)TIEWR (R) ITAE |
(D) (A) AR (R) TAE |
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21.

22,

23.

AMNHLT (A) : T e =R fear
FTHETE |

FHRUT (R) : o] T ° B &+
T T AT & S o6 URaR i
feufa § ek a9 wa & 1 3w
T ISOT, Uit o AT 3TR TG o
T JHEER YA & |

& :

(A) (A) IR (R) I TAE |

(B) (A) 3R (R) 3HT 3G € |

(C) (A)TITR (R) ITAE |

(D) (A) IR (R) TAE |

AMHHAT (A) : THTOER
(UiTIefass) 39 UM 9§ Tai-ad
g S AR usiadl % SIRd
TER T T FATE |

&I (R) : TSR N HE
fog AT T0@ET & 3
‘hHde  3AdCllh’, “HI&T Rl
o, SR T [Iveisor I
EAE |

% :

(A) (A) 3R (R) T & & 3R (R),
(A) T ARTE |

(B) (A) 3R (R) 3FI ¥ & W (R),
(A) o TE AT TR T |

(C) (A)TITR (R) ITAE |

(D) (A) FTFIE R (R) TAE |

Teiferd TagT=t st 377 UfqaTied & o
A T ERd it | A T el A
ST T

I RS IORE

L S R

III.  hIe I 3T Fpidh (GG
V. forder ey faem

E T

A I IV I I

B) IV I 1 1II

© I 1 IV 1I
@ 1 O W IV
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24,

25.

26.

Arrange the following concepts as
they developed. Use the code given
below

L Pleasure-pain principle
II. Anomie

III. Containment

IV. Differential Association
Codes :

A I 1 1v 1
B) IV I 1 I
<o 1 1o 1v 1
) 1 1Iv 1o 1

Arrange serially the stages of
criminological research, as they are
conducted, using the code

L Formulation of hypothesis

II.  Review of literature

III. Data collection

IV. Preparation of research report
Codes :

Ay I 1 I1v 1

@ oI 1 Iv 1

© 1 1m v 1

D) o1 1 1 1v

The following are the juvenile
institutions that are involved in
dealing with processing a juvenile
case, as per the J.J. Act. Arrange the
institutions in order of progression.

L Juvenile Justice Board

II.  Observation Home

III.  Special Home

IV. Aftercare Home

Codes :

A I 1o o 1

B) I I1v 1 I

G© o m I 1

D) Iv 11 1 I

27.

28.

Match the List — I with List — II
List -1 List — II

(a) Personality (i) Maslow

Theory

(b) Psychoanalytic (ii) Kretschmer
Theory

(c) Body types (ii1) Eysenck

(d) Self- (iv) Suthrland
actualization
(v) Sigmund
Freud
Codes :

@ b © @
A) @) (v) G @)
B O G G Gv)
© Gv) @G (v) (@)
D) @) Gv) () @)

Match the List — I with List — II
List -1 List - 11

(1) Five-point scale

(i1) Snow-ball
technique

(ii1) Level of
significance

(a) Hypothesis
(b) Tool

(c) Sampling

(d) Reliability (iv) Report

(v) Cronbach
Alpha

Codes :

@ ® © @
@A O ) (@) 3Gv)
B) @) @O G (V)
© v av) @Gy @)
D) av) @) G @
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29.

30.

31.

32,

Which one of the following is
correctly matched ?

(A) Arrest
(B) Search

— Prison Officer

— Criminal
Procedure Code

(C) Complaint - Liability
(D) Retribution — Arrest

Which one of the following is
correctly matched ?

(A) Prison reforms — Mulla

Committee
B) JJ. Act — NDPS Act
(C) Child Abuse - Police

Reforms
(D) Crime Trends - Victimology

Which of the following is not
correctly matched ?

(A) Differential — Cloward
Opportunity and Ohlin
Theory

(B) Robert Merton - Goals and

Means

(C) Ecological — Park and
Theory Burgess

(D) Anomie — Bonger

‘Victim Advocacy’ means
(A) Dealing with prosecution
(B) Dealing with judicial process

(C) Dealing with offender needs
and assistance

(D) Dealing with victim needs,
assistance and participation

33.

34.

35s.

36.

Characteristics of a
criminological research include

good

(A) Accurate observation
(B) Accurate description
(C) Being logical

(D) All of the above

“Criminaloids” are

(A) Motivated by passion

(B) Having an emotional make up
to commit crime

(C) Committing crime under right
circumstances

(D) All of the above

The concept of social disorganisation
emanates from the

(A) Neo-classical School
(B) Chicago School

(C) Classical School

(D) Positive School

The Act which deals with prevention
and control of commercial sex is

(A) Unlawful Prevention Activities
Act

(B) Juvenile Justice (Care and
Protection of Children) Act

(C) Narcotic Drugs and
Psychotrophic Substances Act

(D) Immoral Traffic (Prevention)
Act
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M € -

(A) -3 AR

(B) 3Ih-3feh e

(C) Tyl

(D) ST Wt

“m’
(A) TR BRI ARA B E |
(B) 3TY A I HAGAHS AR
TWAE |
(Q?ﬁmﬁmwmm
|
(D) SRt T |

ISR 3TETST i STEUROT  had
IGETG IR

(A) TI-ITET TR
(B) TTRmT wuE™
(C) ST I9EE
(D) THRIHF TR

TSI Yo i AHATH TS =01 9

Tt ST &

(A) TReA  FRge  TidfafEt
e

(B) &1 =F (F=dl W @A TH
HreTor) Ity

(C) Thileeh SR Ue H: Tal uered
st

(D) 3Hfds A

Aty

(Fren)

[a
AdLeh]



37. What constitutes Golden Crescent ? 41. Brain profiling is considered as

(A) Burma, Laos, Thailand corroborative evidence in Courts in

India
(B) Iran, Afghanistan, Pakistan (A) True
(C) Iran, Iraq, Kuwait (B) False
(D) Jeddah, Dubai, Istanbul (C) Both (A) and (B)

(D) None of the above

38. Which one of the following is not an
example of cyber crime ? 42. U.N. Standard Minimum Rules for

(A) Spam (B) Phishing Juvenile Justice is also called as

. (A) Tokyo Rules
(C) Malware (D) Harboring

(B) Doha Rules

(C) Rio-de-Jeneiro Rules

39. Which of the following is correctly (D) Beijing Rules

matched ?
(A) Imprisonment - Victimology 43. Which one of the following is not
(B) Juvenile — Diminished given in the U.N. Declaration on the
Justice Criminal Basic Principles of Justice for
Liability Victims of Crime and Victims of
A fP ?
(C) Restitution — Human buse of Power
Rights (A) Correction

Inter-caste (B) Restitution

Tension (C) Compensation

(D) Fit Institution

(D) Assistance

40. ‘Lok Ayukta’ deals with
44. ‘All cognizable offences are non-

(A) Corruption by NGOs bailable’. The statement is
(B) Corruption by public servants (A) True
(C) Corruption by  corporate (B) False

companies (C) Both (A) and (B)
(D) None of the above (D) None of the above



37.

38.

39.

40.
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fretetEd 5 i 91 92t Aferd € 2
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41.
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43.
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(B) EA
(C) =Ml (A)TE (B)
(D) IR | HiE el
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Tt ot fory =TT @ ST ST & 2

(A) feran Fam
(B) e e
(C) T3-SRl Tom
(D) s g

3TIRTY % Icdifedl 3R Tl o SHUANT o
Scdifeat o ferdr =mr o oregd fasTi
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(C) &

(D) weEd

Tl I Y RS Bl & I T8
FOTE

(A) |

(B) 3&@H

(C) i (A) T (B)

(D) SIS H IS el



Read the passage below and answer the
questions that follow based on your
understanding of the passage (Question
Nos. 45 -50) :

Money laundering can be described
as the turning of dirty money into clean
money. It is the process of converting cash
or other property which is derived from
criminal activity so as to give it the
appearance of having been obtained from
the legitimate source. The key elements of
this definition include the conversion of
illicit cash to a less suspicious form so that
the true source of ownership is concealed
and a legitimate source is created. Money
laundering generally involves a series of
multiple transactions used to disguise the
source of financial assets so that these
assets may be used without compromising
the criminals, who are seeking to use the
like
placement, where the money is being

funds by a three stage process

inserted into the financial system through
deposits, wire transfers or other means.
The next stage is layering which separates
the proceeds, room their criminal origin by
moving them through a series of financial
transactions. This makes it harder to
establish a connection between them. The
final stage is integration, which is creating
a legitimate explanation for the source of
funds allowing them to be retained,

invested or used to acquire goods or assets.

45. Turning clean money into dirty
money is called money laundering

(A) True

(B) False

(C) Both (A) and (B)
(D) None of the above
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46.

47.

48.

49.

50.

The money for laundering is

(A) Clean money

(B) Money derived from criminal
activity

(C) Money through salary

(D) Profit from business

The most important elements
involved in money laundering are

(A) Conversion

(B) Concealment
(C) A source

(D) All of the above

Money laundering involves
(A)
B)
©
(D)

Single transaction
Cheque transaction
Cash transaction

Multiple transactions

Introducing illegal money into a
legal financial system is called

(A) Black money

(B) Development
(C) Placement
(D) Layering

Using the money by creating a
legitimate explanation for the source
of funds is called

(A) Retention
(B) Integration
(C) Rooming
(D) Placement

J-68-11



T 53 o= & ufer R A T
CEEl (45-50) T ST UR=T HI
YT THET o YR W e

T AT ol AR TTeAd dlieh 9 3hg]
Y T2 AT T e T5T H T80T o & F i ST
el & | I8 NI Tiatarg (3 fwam) @
e aTet g STaT 3T T i TR
T Uik & fed 6 38 9y || 9 ure
T T 3T TS0 ST Heh | 37 URAT & qeA
awal W STy TS ol HH G<Ese &9 H
IREfad AT g § Sag T @i @
3Tl B U W R 9y | giwa & S |
T SR H WERT dR R ag gy @ 39
e R3S €, e swEm fadE
R o i i U % o foha st &
Ak, 3@ T Hi, TUNET & G R
THET o foT SUFT TR ST 9ok | O YOI,
¥ T T STIET UTshal & FRT YA A i
I T T €, A9, T, STl € S (eI, ar
FEARROT AT 3T WA % SIRY [
Zae § A fmar ST W@ E | SETer St
TR Y & ST T SATHE ol 37T il €,
JTORTTYeR Fiell G W G &l s forig eiet
& SR TauieTd Tt & | S0 Hora®y 37
S Gy T ST SITET Shicd & Sl € |
AT STEET TShIHOT 1 & S Toh & o i 1
qg TR T w8 AR T FD oA
TfeTie foRan ST Hehel € 3R F 1 Haw e
FS Tl TR ST TRGHI T HA H ITAMT
fopart ST FepeT € |

45. W TR I o alil d TR TR
T H EARING HET TA AT
FEAT G -

(A) ¥
(B) a9
(C) =M (A)TE (B)
(D) WIS § HIE el
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46.

47.

48.

49.

50.

AT o fo1d q51 ¥ SR €
(A) == T

(B)  3TORITY fshamati & wret Hx1
(C) 3 & S T &

(D) FRER I AT T

T AT § AT Hewaqul aw & :
(A) TR

(B) o

(C) =ma

(D) ST welt

T e H TEfa §
(A) THA AT
(B) % oA
(C) o8 o e
(D) fafay oA

Ay Toxiia e % TR 7Y TET A
FEAAE :

(A) el o
(B) foerg
(C) ==
(D) TR

¥ & A & o1 dY TR giord
ek & Sl SUFNT FEATT € -

(A) TR
(B) T
(C) faume
(D) ==
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